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Solution 26, p. 93:  

 

 The figure should be shown as follows: 
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Question 35, p. 30:  

The figure shows a four-bar linkage. If Link 3 rotates in the counterclockwise direction, the angle 
of the velocity vector P as seen by A, measured in the global X-Y coordinate frame, is most nearly: 
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Question 78, p. 59:  

 

The options should read as follows: 

 

o A. 348 

o B. 148 

o C. 1.10 

o D. 0.90 

 

 

 

Solution 78, p. 117:  

 

The solution should read as follows: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

THE CORRECT ANSWER IS: B 
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